
3 x 4 = 4 x 7 = 5 x 6 =

5 x 9 = 3 x 1 = 4 x 2 =

4 x 4 = 5 x 3 = 3 x 3 = 

Tic tac Toe
Directions: 
1. Choose a game to begin. 
2. Decide who will be X and who will be O. 
3. Take turns selecting a box and solving the 

task inside the box. 
4. Both partners solve the task. If the player 

who chose the task is correct, he or she 
can mark it with his or her X or O. 

5. Continue until a player covers three boxes 
(horizontally, vertically, or diagonally) or all 
of the boxes are solved.

6. Repeat steps 3-5 with a new game.

4 x 1 = 5 x 2 = 3 x 2 = 

3 x 6 = 4 x 8 = 5 x 5 = 

5 x 7 = 3 x 8 = 4 x 8 = 

5 x 4 = 3 x 7 = 4 x 5 = 

4 x 3 = 5 x 1 = 3 x 9 = 

3 x 5 = 4 x 6 = 5 x 8 =

Math Style Multiplication: 3s, 4s, 5s



3 x 4 = 
12

4 x 7 =
28

5 x 6 =
30

5 x 9 = 
45

3 x 1 = 
3

4 x 2 =
8

4 x 4 = 
16

5 x 3 =
15

3 x 3 = 
9

Tic tac Toe

4 x 1 =
4

5 x 2 = 
10

3 x 2 = 
6

3 x 6 = 
18

4 x 8 = 
32

5 x 5 = 
25

5 x 7 =
35

3 x 8 = 
24

4 x 9 = 
36

5 x 4 =
20 

3 x 7 = 
21

4 x 5 = 
20

4 x 3 =
12

5 x 1 = 
5

3 x 9 = 
27

3 x 5 = 
15

4 x 6 = 
24

5 x 8 = 
40

Math Style Multiplication: 3s, 4s, 5s

Answer
Key



6 x 5 = 8 x 7 = 7 x 8 = 

7 x 1 = 6 x 3 = 8 x 6 = 

6 x 7 = 8 x 2 = 7 x 4 = 

Tic tac Toe
Directions: 
1. Choose a game to begin. 
2. Decide who will be X and who will be O. 
3. Take turns selecting a box and solving the 

task inside the box. 
4. Both partners solve the task. If the player 

who chose the task is correct, he or she 
can mark it with his or her X or O. 

5. Continue until a player covers three boxes 
(horizontally, vertically, or diagonally) or all 
of the boxes are solved.

6. Repeat steps 3-5 with a new game.

7 x 3 = 8 x 4 = 6 x 2 =

8 x 8 = 6 x 6 = 7 x 5 = 

6 x 9 = 7 x 7 = 8 x 1 =

7 x 2 = 6 x 4 = 8 x 3 =

8 x 5 = 7 x 6 = 6 x 1 =

6 x 8 = 8 x 9 = 7 x 9 = 

Math Style Multiplication: 6s, 7s, 8s



6 x 5 = 
30

8 x 7 = 
56

7 x 8 =
56

7 x 1 =
7

6 x 3 =
18

8 x 6 = 
48

6 x 7 = 
42

8 x 2 = 
16

7 x 4 =
28

Tic tac Toe

7 x 3 =
21

8 x 4 =
32

6 x 2 =
12

8 x 8 = 
64

6 x 6 = 
36

7 x 5 = 
35

6 x 9 = 
54

7 x 7 =
49

8 x 1 =
8

7 x 2 =
14

6 x 4 = 
24

8 x 3 =
24

8 x 5 = 
40

7 x 6 = 
42

6 x 1 =
6

6 x 8 = 
48

8 x 9 = 
72

7 x 9 = 
63

Math Style Multiplication: 6s, 7s, 8s

Answer
Key


